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SECTION -
|ug - |
CHILD DEVELOPMENT AND PEDAGOGY
e o e e
There are 30 questions in all in this section.
All questions are compulsory.
WaEdFa 30w § |
o wv e § |

@ . Aleaming disability that involves difficulty in handwriting is called

ST-1

dg:/gzzlcxiah‘ (B) Dyscalculia
d . ey ' (D) Attention deficit hyperactive disorder
3 O v Reeseiman fored fonamae § wfm wiver 2 wrem 2
M®A) feifaaa (B) Feewergfor
() Femnfemn (D) = 3ma wtaatwaa fisr

2. Which one of the following is related to summative evaluation ? )
(A) Provide the teacher with continuous and immediate feedback about student’s ~
progress. '
(B) Focuses on molecular analysis of instructional material.
(C) On-going of systematic assessment of learner's achievement.
(D) Terminal assessment of the leamer’s performance at the end of the session.

f= 5 @ ¥ |1 v A gedieh @ wefua R 7

(A) Feags &) oE & wifa & an § fia i aese sfafman vem & )
(B) oz wmanft & snvifaes e o dfza |

(C) Toramefi ) Ivafes &1 sman szafdm e ¢+

\ D7 % 3ia  faremel & weet am sifew e |

3 Howard Gardner says that there are many specific types of intelligence or frames of mind.
Which one is a category of intelligence as suggested by him ?

(A) Analytical Intelligence (B) C rcal_ivc Inlclli.gence
(C) Naturalist Skills (D) Practical Intelligence .
Q wrad e e 2 o i wen o gfa an e % S A, e g ged é afy 6 avh
mm;:s;mg& (B) =TS qfg |
(A)
(C) weHfaard e (D) - =TT 9

4. In our country many children speak more than one language. Find out from the following,
the correct advantage to children who has ability to §peak two |gnguages. .
(A) Facilitate concept fomqtigp (B) Facilitate analytical reasoning
(C) Facilitate cognitive flexibility (D) All the above
% gt 2w 5 at w @ ifers o Ao & | R A & v s, Q) vmnail ) ded 6

aTe w=l & fore §E @™
(A) FEuRY T3 H g (B) faversvmens % & gfawm
(©) s aeE A g (BT W -

4) ST-1
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4) ST-1

A teacher in the classroom is doing some activities like : (a) asking not only what happened
put also “how and why", (b) helping them to compare various answers to a question and °
J“dge Wwhich is really the best answer. From thinking point of view, through these activities
he is trying to promote : .

(A)  Analogy (B) Critical thinking

(C)  Integrative thinking (D) Concept mapping

U e han # 3o nfafafy @ R, R (31) 7 e 78 @ B 7 gon afews 7% ot
1 % R i i, (%) 32 o 99 & fafi=r 3o qon v ) gomn F § weg AT A
AT | q e w2, 3 R @ T8 w23 6 S s d

(A) woFaT g

(C) vhrpa wr (D)  JyauRYT wrfRE

Positive or negative stimuli or events that can motivate a student’s behaviour. Which
psychological perspective explain motivation in this way ?
(A) Humanistic (B) Behavioural
(C) Cognitive (D) Social

O FHHTEHH I FBRICHH I A1 et BT 5 4w 1 i w0 wadt § | 99 a1 wvdanfs
wflies 30 o' & Son H =N F@ E 2

(A) *HHaarETE) B,

(C) TS (D) "I

The term inclusion means educating a child with special educational needs in the
regular classroom. \ o

(A) most of the ime (B) full ime

(C) some time (D) notme

U W&, 1 Haera, fav e sravasa ae o= = _ Frafira e o fifim
WA

(A) waifus a5/ LB wE

(C) TS (D) ferelt w3

A language teacher teaching a'poem in the classroom by explaining the details of the poem
and asking the studerits to draw conclusion or broad view from explanation. It is an example

of
\_/(,A')/'lnductive reasoning ‘ (B) Deductive reasoning
(C) Concept mapping (D) Hypothesis testing

§ ek wrar fivres e e w0 faaor wwge Han § S vgn @ R o o B enfiw
3 frepd PR T as R sa s s @ | B H @ sgrm R :

Mmaﬁ / (B) e
(C) FEURn JEAfE (D) e weo
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' (5)
% Psychoanalysts ey , - F
1d”. It is called eve that there is a Primary means by which the ego “keeps the lid on the
(C) Conflict :B) :lcasure' principle
HAfaveryo 1 9 R s - epression
mt @mﬁ‘*m&ﬁu&m@o“ldwmmr.“
(A) g
(B) 3mirg fagim
©) &=

10. lntrovetsion-Extraversion trait of personality is propounded by
(A) Hans Eysenck (B) R.B. Cattle

((.3) Gordon Allport ' (D) Carl Rogers
Wm-i&ﬁamwﬁmmmﬁn%mmﬁaaz

(C) TiET Jrrerdrd . (D) el Tt

~

11. Which of the following best exemplifies what motivation is ?
(A) Student “A™ is emotional about the upcoming school year and wants to.do well.

(B) Student “B" is energized. sets a high goal for doing well in his maths class, persists
with considerable effort. and score highest in class.

(C) Student “C™ is good at directing his attention to what he wants to accomplish,
(D) Student “D" works hard, experiences positive feelings about her academic work.
firey 3 @ w9 et sereo 2 s o @ 2
(A) B “3 JPIH wper ad & T/ 1 g 2 3 37T S SwEa |
\ LBy BT " |l R, 31 nfora a # s w3 % fg s we Pt o R, w16 v
¥ |1 71 a1 R, 3N Ha § =AW 3H W FAR |
(C) B “T" 8 T [ FA1 el 2 T 39 2 2w w3 § s 2|

(D) B T H Heaa Fdl 8, 35% HMereh Hr & AR & webmoress wraal w1 e we R |

12. If extrinsic motivation is a means to an end, then intrinsic motivation is

(A) abeginning (B) anend in itself 4
(C) abeginning and end (D) None of the above
3w o @ 3 1 e 2, A it Som R ‘
(A) T YEIE - (B 3y 0 s
(C) U I AU 3 | (D) 3IFIa g off 74 |

P.T.O.
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13. A systematic science which provides rules, laws and principles for achieving adjustment
with self and the environment is called ;
(A) Motivation (B) Mental hygiene
(C) Learning (D) Conflict

U afrd fasm ot @ 3 qrara F 91 q9ReE 5 Ye S & fere fam, FEE 3
forgia wem = @, Feamm 2 - -

(A) 3firon.- B Teamft s

(C) 3ftrm D) &=

14.  One of the adjustment mechanism involves thinking logically and socially, in approved
reason of past, present and proposed behaviour is called

(A) . Compensation (B) Rationalization

(C) Regression (D) Repression

U HHIAISH 73 3, T S e sraen $ swifen swoi § afbe s i
®Y 8§ Hren wfiet R, weena @

(A) o LB R
(C) wferms (D) T

15.  Organization set-up of the school influences learning of students. This factor belongs to
which category ?

(A) Physiological factors (B) Psychological factors’

(C) Social factors (D) Other factors

e SIS T BT F HUTH H Wil et R | 7w Tee] 39 At @ w2 :
(A) fraemars (B) . %I P

() —amfie Fn (D) 3 e

16.  Which of the following condition promotes adjustment ?

(A) Acute anxiety (B) Obsessive thought of guﬁt

(C) Fear of illness (D)  Free from neurotic fears and anxiety
forr feuferal & @ 17 Tt ) wgran 31 2 7 ‘

(A) i egehan (B) 310 %1 3
(©) dmF Dy e v 3 i @
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ST-1
17.

18.

19.

Gon

—

20.

(7N
As a teacher you asked vour s :
er ) \ stude : ‘ .
on ow Jife. Which cogmmcu|:\r:? ‘:(“Brl:,an' 9\’.‘\ c\pl.’nnn_xg ”'f mpact of pollution
assignment ? m’s taxonomy 1s best illusirated by this
(A) Analysi
e _ (B) Apphcation
(C) Comprehension (D) Knowled
ow ledge
s e & sy i . : . ,
e AT I BT & BAR s g Zav 6 WA B AR ¥ O e frd
T FRIVR A = & e o @ s T smen f
(A) \_,(B‘l/nm‘
(€) W (D) A
::h a t.eachcr‘ you have collcx_;ted information about intelligence. personality and classroom
aviour of a student by using appropriate test and check-list. This process is called as
(A) Asscssnj\enl (B) Measurement
(C) Evaluation (D) Al the above
foveres 3 A S0 31 v Iuge whiew 3k e ge @ IvEm w o A Afe, i T
N SEER & AR FHHA Uhs #i 2 | 98 yhEa e
Oy T (B) W
(C) W& (D) 3ot @i
Which domain is not named in Bloom's taxonomy 7
3 (A) Cognitive (By Conative
(C) Affective (D) Psychomotor
w3 T 98 s & aife # Jifva T R
(A) AT (B) Forarare
(C) wrETH® (D) 2
Which one of the following is not a guiding prnciple of Natonal Curnculum Framework -

2005 ?
(A) Connecting knowledge to Iife outside the school.
(B) Makmng examination more flexible and integrated into classroom hife.

(C) Leaming should facthitate the rote method.
(D) Ennching the curriculum to provide for overall development of children rather i

remain text pwk centric. i .
Arferiya § # @1 19 TETEEl 2005 gf 3 mriesie fagm T8 & 7
(A) mim:ﬂnﬁmﬂmn .

(B) e ) ity rften 3w fra 3 whIEA F |

\%Mﬁmﬁhﬁgﬁvmmmn

(D) mi@-ﬂiﬁm"**mfumthmmﬂmmn
P.1.0.
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¥ (8) ST
2. Initally 4 baby grasp the object by using his whole palm. Gradually as growth ang
development continues the baby uses finger and thumb to pickup the object. This type of
progression s
(A)  Cephalocaudal progression
(B)  Proximodistal progression
(C) Mass 10 specific action progression
(D) Random progression .
U B O w0 i gt el a6 i o e @) vwe R | it-+fit gfa st famm & v
imWWi@meﬁuﬁ%Mmt | 38 wabR & wfa R -

(A) faraatere wify ]
B Wit sy ‘ ¢ A 234!
NS @ fafare wwdard wnfa

(D)  wfafia yfy

22. Development in child is often divided into three broad domains such as physical, cognitive,
emotional and social. So far as dev clopmental process is concerned these domains

(A) develop independently without influencing other

(B) develop in an integrated and wholistic fashion

(C) develop parnally

(D) develop randomly

a2 & R i e, S, W et 3 49 s 8 § Rnfe

o e R | e e 390 &1 & @l aw dafam 2 2
(A) =1 %! waifaa fee famn @ea &y @ fasfim

B g o w2
(C) iftrs w9 A fafia

(D) e g & fawfa

23. A child who is high or low in a characteristic (such as verbal abihty) will remain so at
. later ages. This statement stress the importance of

(A) Early expenences (B) Environment |
(D) Both Heredity and environment

(C) Heredity
@mﬁﬁwm(ﬁmm)ﬁwmﬁnt.mﬁuitﬂmmum
g AT

(A) SRS 3 (B) aaraw

\_}C’/W (D) FaEfivem 7o FamEm 2=
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24. The law of use and disuse in learning is also called 45

%0‘\\05 (A) law of effect (B)  law of exercise
—— (C) law of reinforcement (D)  None of lhcv;-
Mimmm%ﬁnﬁmmmt
(A) woe & faam (B) % fagm
(C) wwera &1 faam (D) o & wrd 38

28. !n Paviov's experiment the dog sahivated not only when meat powder was placed directly
in his mouth, but also well before that 1.¢. when heard the trainer’s footsteps coming down
the stairs. This phenomenon is called as

(A) . Extinction (B)  Unconditional stimulus

(C)  Conditioned reflex (D) Readiness

TR 3 A 8, 0 7 e w3 s i g 8 v @ e o 8, f v v
Cy i i & i 3 e s & el ) s g 2 | g6 st @ wm TR

(A) fa=rs (B) e o wiemmes

\(or” safem 3w (D) e

26. Cogmuion develops through the constant process of interaction between the child and the
environment. This principle is reflected 1n

(A) Thomdike's lcarming theory (B) Piaget’s cogmitive development theory

(C) Tolman's signal learming (D) Kohler’s learming theory

S w3 AT & dr s € o st a8 fata w2 | an fegi
% wfafafen s 2

(A) wrizEs s fagm \ (BT s fawm firgim

(C) Prelta ga wiwm (D) wween wium fagm

In Piaget’s theory a process which 1s the balancing act between the “old™ and the ‘new’ -

= between perceptions and expenience known as
(A) Assimilation : (B)  Accommodation
(C) Equilibration (D) Knowledge disturbance
fara & fagia § ve wiwan 3 g 3T - uromd 3R e & die wgeE e,
i & '
(A) wwEa . (B) wEEEA

P.T.0,
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28.  Which of the following is not a precaution for using intelligence test ?

(A)  Avoid unwarranted stereotypes and negative expectations about students based op 10
scores

(B) Individual assessment of intelligence is a structured interaction between the eXaminer
and the student.

(€)  Don’t use IQ tests as the main or sole characteristics of competence.
(D) Be cautious in interpreting the meaningfulness of an overall 1Q score.

ﬁaiammmmtmmmﬁmwu

(A) 31 T T & sam W srgfer wfgardt s et 3 ait i Femoers e 3 we |
Mm%mmmm%ﬂawmmh

(C) e 1 e a1 vapmrs fastwen il & = i simé g whteroil w1 398 3 &0 |

(D) o wwu 3¢ o wh ) wrefe $ sqmean i arau @ |

29.  As per Erikson, psychosocial development of children occurs in Eight stages. A student of

class I1I (around 9 years) corresponds to which stage of development ?
(A) Autonomy versus shame and doubt(B) Industry versus inferiority
(C) Initiative versus guilt (D) Intimacy versus isolation

U AR, W e R e il § S d | o w3 W e (9 W
FE-9r) fawm & v s 4 de @ @ 7

(A) il @ am wee & ywee ) wma
B o @

(C) dqea a9 390y

(D) Tl wAH Hera

Which of the following statement is not true for norm reference test ?

(A) Itis a standardized test.
(B) Student’s score is interpreted by comparing it with how others performed.

(C) Testis said to be based on national norm.
(D) Student’s performance is compared with established criteria.
e i & W w1 wye e wefifa sl & forg v R 7

ar uw WA e R |
::: B ¥ T 6 gern vEd Wa e weh $ At & s 3 3 S ek e R

(©) wm e # 6 wleo uga TEEE w st R |
thwwﬁmm@ﬂmﬁmh
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PE) e et & e w e

F
TET
(€) fREwsE=

B e
() e

41. foam 5597 %1 wenrs fewe 3 2 7

A =@

LB 4. TS 1 FEEE O R
(A) &7 BT FHR-FH0
Ul

@45. A e
(A) &=
(C) W

@,«. o -39 WA R
(A) wefe

Mﬂm«:
@,-,. Iew & vy fen afze ad 2

NIZ-gn L
(C) mﬂmﬂ

48. wa ) FWIA TG [ R
(A) mm

Wm
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(B) Jﬂf&?“}'
(D) faran v

\p/wh

D)y #

(B) w7 gt
(D) wwd

(B) &iq
(D) &=

(B) F&yy
(D) wrEsYs

(B) ¥ fawwag

(B) fa=
(D) tafem
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- (n .
0. & iz gl duw & & wah @ @

(€) T & W (D) Wl & wan

50, IgaTaT g R -
= (A) e waaf SR e v s )
(B)  Ieurs gt sfdamgal &) g st go o fasan s |
() arert Y iR s wfgd &1 v e |
forerss ) vy st sfaeat @1 wan e |

Frferftgm mame & JmuR v v dEn §1 @ 58 a6 & e e

T TR WA I ware a8 & R wl wer oy 7 ged ae Pifdarg @ @ wfee s oy
2 | Afe T @ SE-aTe g o 2e R R ap ) dferes srarond s # 7 @ figd, o, 34,
TS, T, S @ @ g B qff e ¥ 2 ol | oy B Al e sihoqo sfEe e o &
wrd e, de & reEd et 3k R ) - s i onave favar @ e R | s B
Ay ol e qeiRal % wra u e i 3R o o gemrm whan @ @ R | IEH! waa-
F S ot T o ) SR R R | - o & die weg % S S 2R w1 R |

1. ag wee sy R 2 vwl & wam g R

(A) Fmfor \}m/ﬁﬁﬂu
() Pbws - (D) g
(752, i T H & ST H o w S R
N Bl ‘ (B) wd - wda
(€) =gt — =g (D) T — T
53, “diftre’ weg Frw e & R wgwa g R 7
(A) & & faemest @ g M.a‘ihﬂﬁmqﬁ|
() & H foams ww (D) ¥& & T
§4, TH FEW S EAWHAR
(A) W © (B) w4
N , « (D) IWw
ﬂ?}ss. ‘W -gTE’ wreg H WA | EEE R 7
NG (B)

fan
() wdurE (D) wegey
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Frefirfem i 3 savume oo s s s6 2 60 7% % 3 A -

v g s e @ | s v div s fadt a6 w8 EH R | G- forg
I & it ¥ | g £ adwr fren-yoeh st A | Tw B AR B ) gy
FTUHT W N IR 30 e o H H A FO AR, WE G- TG B2 A 2 |
g @ 6 fran-soreht aa-af 7 v 2 | womreht ft B % wror el A T A p gy
R e ik ik s w0 fow a2 a9 e @ el s fo 1 R A e 1 i
A | 3% v g wrfve, favee wgen fiw, fove e <61 faven 2 it S R 3 i -
WA W e - i waew i, o o 6 A g scvE e aw 3 s i
T g3 -forar i ) G & — aw e R, ar e w1 IETEE R, 98 TE-GE AT HA
R | Y e werw o e 2

56. ‘Iefwrlt’ e w1 W s R 7

(A) Taatia s & awen (B) 3nifze e aren

() fafire 3ref w3 amen \ oy fe w0 amen
@57. T F T wieg g & w9 vy A @ 2

(A) o © o (B) e

(C) w&§ (D)

58. I @ & gw ad fwea @ 7

Ly - (B) T&-TR
\(C)/FEH-*F‘ (D) 3% — 3
59, ‘ITCAIYS HETH GG @1 AN T F B 51 Hel R 7
NS .
%jb‘lé (A) W sl e (B) &wTea wisaq el
(C) SH=¥E (D) _ 38~ ¥a
f’q\ . HUITETl %G DI HE HYE
\_/(,u/vt'w (B) ™

W (D) faum
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SECTION — 1y '
LANGUAGE - | E \l 5\/1 ’T
ENGLISH r\%
There are 30 Questions in all in this Section.
Al questions gre compulsory

31 L:’;’:\yuesliun IS Correct in its structure 7
( Why did she write the letter ?

(B)  Why did she wrote the letter ?
(C)  Why did she written the letter 2
(D)  Why had she wrote the letter ?

32.  “She speaks English fluently.” The correct passive form of the sentence will be

(A) English is being spoken by her fluently.

(B) English has been spoken by her fluently.
(&1~ English is spoken by her fluently.

(D) English was spoken by her fluently.

33.  Which of the following contains the words beginning with the same consonant sound ?

(A) Chicago - Chorus (B) Cherish — Charisma
(C) China - Chrome (Pr~ Check —~ Chain
34. Which of the following contains the same vowel sound ?
(A) hook - brook - luck \9«)— cat - bat - mat
(C) win— we - see (D) lead - leak — break

35. Choose the correct phonetic symbol for the underlined sound of the word ‘boy’
. A ol (B) /boe/

(C€) oo/ (D) /bal/

36. What is the proper order of language Iming ?
AT Listening, Speaking, Rcadfng. Wr?lfng
(B) Listening. Reading, Speaking, Wnl,ng
(C) Reading, Wntng, Llstmlqg. Speak!ng
(D) Reading, Listening. Speaking, Writing

is applied in order 10 choose a particular course for a particular class.
(—; )y The Principle of Motivation
(B) The Pnnciple of concreteness
(C) The Principle of proper order
th/T he Principie of selection -_—

3.
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(16) ST,
Which s the classical method of teaching English ?

(A)  Direct method BT The Grammar - translation method
(C) Bilingual method (D) Audio lingual method

Who developed Bilingual method ?

(A) Dr. West \Jm/mr. C.J. Dodson

(C) Prof A'S. Homby (D) Prof. Jesperson

An which approach does the teacher introduce the new words incidently in the class ?
(A)__Structural Approach (B) Mululingual Approach
Situational Approach (D) Multimedia Approach

4I.y—is the purpose of writing at Elementary level ?

42.

43.

45.

46.

47.

) Development of motor skills
(B) Discrimination of the words
(C) Taking notes
(D) Initiating conversation

Which technique of reading is used to look for specific piece of information ?
(A) Library reading (B) Skimming
(C) Oral Reading s Dy Scanning

Which is *Look and say" method of reading ?
(A) The Alphabetic method (B) The Phonic method
JCr The word method (D) The sentence method

has the advantage of providing a focal point of attention for the whole class and
can be used for a variety of purposes.
(A) Picture charts (B) Film stnps

\(C Blackboard (D) Slides

Which 1s NOT a characteristics of a good text book ?
(A) Adequate subject matter (B) Suitable structure
(C) Suitable vocabulary (D)~ Frequently misspelt words

Wluchlestlsoonduuedmmdertoﬁndommesmdquslmingmgnrdingthc
discnmination of sounds

(A) _Reading test (B) Comprehension test
) Listeming test (D) Wniting test
tests can be scored Quickly and consistently.
) Objecuye (B) Productive
(C) Subjective (D) Primary
o
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55, Find out the word from the text which means *An event for pubhic entertummen ang

trade’
(A)  Shop (B Toys
(1 Fawr (D) Mery-go-rounds

Passage (Q. No. 56 - 60) A

The state police went 10 Rastapal village on 19 June, 1947 (o close the school w hich way
running in the house of Nanabhar Khant. Nanabha refused to close the school. The police they
beat up Nanabhai severely. He fell unconscious They took hum away with them to imprson
However, Nanabhai died of his injuries on the way before the police could reach their camp
After this the police beat up the teacher Sengabhar Bheel who had continued 1o teach the
children despite Nanabhai's death. After beating Sengabhat the police tied him to therr truck
They took him away draggmg on the road. A student of the school named Kalibar could not see
this. She ran towards the truck with a sickle 10 cut the ropes and free sengabhar The police
wamed her not to run after the vehicle but she did not histen to them She reached her teaches

and cut the rope with one stroke of the sickle.

So.  1ne woras “Sickie” and “Velicles” are
(A)  Adjectives (B)  Adverbs

\Mmms (D) Pronouns

‘§7. "The police then beat up Nanabhai severely.* The verb  “beat up” 15 1

(A) Simple Present Mnmplc Past
(C)  Past Perfect (D) Present Perfect

&8. 'She reached her teacher and cut the rope with one stroke of the sickle.” The verh  “cut’ s

n -
(A) Simple Present \Mnmplc Past
(C) Simple future (D) Past Perfect

59.  Whichof the following has the three degrees of the adjectives in their correct form *
Angry - angner - angtiest
(B) Angry - more angry - most angry
(C)  Angry - more angrily - most angrily
(D) Angry - Angener - Angeriest

60. Which of the following options has a determiner in it
The police (B)  then beat up
(C) ook him away (D) He fell unconscrous
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sT-1 (19)
LC LA | | (| —
- | %\‘)\/‘*L/)}Y e
wF
v oo womn. wf |

Ha W SEYa: |
31, BE FATE B 9 § | g WA waTE 564 -
(A) B s 72 |
(B) B FwgEa w2f3 |
L(yp/sm; s 12fA |
(D) o e T3 |

32, T NTEAE AT e areae areauiady $%9 —
(A) HTAal WTa- T4 | (B) W NTEE T=44 |

(C) W ¥ v | (D)~ e S = |
33. ‘@ wwE FEwRAH faw

(A) wvgard \L&D/m‘l

(C) wu3maq (D) wmd
M. M:ﬁ:'ﬁ|

(W Fam: (B) wai:

(C) i (D) @-aui:
38, amaafg weEa

‘?:m'm‘z'm'w

(A) F9: werq oA 3ugafa | (B) 79: Wl wa zumafa |

\;,p,/;:wimiwﬁn (D) 7w @& v Zveafy |
36. ﬂ'wuﬂlihﬂﬁi fawma. wafa |

NI (B) e%:

(C) w3 (D) =z
37, wrery e famm: wafy |

(A) wEEEEfafeE \Wm

(C) wmurfafen (D) afaarfafen
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38, mﬁmﬁmﬁﬁz:t:ﬁ%?
(A) wafafy. (B) =reufafy.
() vermdafy. (D) wrrgurfafy.

. - -egfgeEm #1 % g UG 7
\/(M’ﬁﬁmﬁwm:ﬁrzm:
(B) e fagr:
(C) wwamfagr:
(D) Mfgwewri figr:

40. wEFaTIITiE you MMewwrd . Rfgrsd AT
(A) 2. fagra: b M el
(B) =gy fagr:
J(mmaﬁm:
(D) Hﬁﬂlmm:j%zm:

41. nmﬁwmmmmm&zmﬁsm?
(A) g v vf
(B) wwerewe vy
(C) Wy faveiawr ufy
(D) i o wfa
42. TegEy 3f wE faes
(A) WIS
(B) HavrhlreTey
(C) vETveny
(D) vYSTHEE
43. TRy e
(A) vl (B) wamug:
(C) Taw (D) wE=firera:
44, Mmmmmmm:QM?
(A) wHfaE (B) T -
(C) & (D) wEMYE
45. STETgEEE T fee myed fawd
(A) WETHHT T o faana
(B) STEARTR&IE woeamy
(C) BAY @R wf vy
(D) I WA A gz
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46. Fraorferfii i ey
(A) Ty ' e v
(B) weamaay
(C) TeEwry
(D) JreEy
47. BTN RHRRE i i s
(A) SR
(B) wraTERRY
(C) IR
(D) HeYUR
48. wreRTIlET way
(C) m (D) m
49. wran ATt ate W € e wa |
(A) FraREHgEaTH (B) wTRIqEaTHAT
(C) waaqEdHAA (D) wiien
50. e MawH T e qedinA Fd 7 v 0
(A) =HET= (B) 93 =
(C) WU ‘ (D) TR
srferRgay rafdd e T 9 - (51-55) FHIET:
srere g Fifvad wd aq sepava faewmreendfa | sy a1 s wepa - spa - - -
Ffrereman: m:mmﬁgm:mmmm,m,q@gm |
SRy S NN A A watg S A depani, 1 9 ageh i faf:
TGt wpamTTaT |
s1. averey’ g & e 7
(A) woHl (
() e (D) et
52. W'wm=m= .
(A) wepawm + ¥ (B) R}‘Fﬂﬂiwm
i D) wSHaum + 3@
Sy + T (
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53. wpmme dafad) forfe fawd s ared faieng frga -

(A) wEpmTY (8) faed

() fafe A
§4. SN YR & WS 7

UXT 74 (B)

() # (D) #aq
§8. fawwmr g wumfane add

(A) faw wm \ B Tawm wn

() fawm wm (D) fagwm

faferfan seem smarfig= Pranfem. ww © (Se-60) wamda.

Famagfidriaefa s
Az wegen wfgf
T vdw TS ()
$6. “HEHE" §A & HWW: 7
\/A] s (B) g
) = (D) wegdmE-
57. ‘vdw v & wfw 7
(A) TR, \-B'\/qfkllﬁ
() #ndufa (D) ety
s8.  wfe v 6 v v 7
(A) gafaefag (B) Ivanfa.
_(S)—vwem (D)
59, -wafa Jurena. S - v faire fag 7
(A) wafa (B) .
(©) w" \Mm:
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™ Lented A2 |

L LC |
LU LT
T @UE | e 30 WA # |
woft wo srfard # |
61. ﬁ'qaﬂmqﬂt
(A) 3w (B) 3R ITel
AT e e (D) 3~ 3M FEHA
62. “q@ g Sun wura § | awin d sew w1 e R -
(C) um (D) wam &
63. “!mmﬂ!rﬂgaﬁmsﬁtﬂﬁmam'mimiﬁg&ﬁmﬁ:m-
(A) Hhaarae (B) m
(C) FeomNS (D)
64 ‘mﬂﬁﬁ@wﬂﬁm&mmhﬁamﬁwﬁmﬁmﬁmﬁmw
qgdt | wwena ? -
(A) =R (B) weqardia
(C) arard Dy HHETER

65. ﬁqiﬂmmmmt&éﬁm3 ?

e aen 1A ore! (B) wregrd &Y Yot
(€) e 41 G Yoredt (D) SaTEA YUt
67. TE S T S —
g ST
68. mmi&mﬂnﬁm"t e -
i . (D) e foamn

(C) Aty forem
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69. wETE % gy siva

(40)

(A) Teva wya w0 (B) Sgritehtun HTAT
T 71 TR & AT HA (D) SR HEAT
70. wflgw sfisafen w1 smavas 2 -
(A) wifersfreran (B) TmRIen
(C) wwTETEHa Wmﬁw
7. Py w2
(W m B) &
(C) % (D) =
72, WEATHA 1 8 e & g f -
(A) i By Toega
(€) &= (D) w%faa
73.  Iyfely viier %1 I5a T4 g 2
(A) i (B) #vft-fanyrem
oy Toreres 1 e 1 Fram (D) e Frde
74. Tafcarers e i s am -
(A) Fem IR
(€) faem a3van (D) Igyeifey
75. UIGAYEAS TEA1 & HIYH] 1% B -
W T w5 =, T, e

(B) wrttantor, fawa wmft &1 w4, Wt
(C) wegdrentor, Tl fawa amft 1 99
(D) wgdteto, fawa amft 1 w9, @i

- sy -7 vy e & areqd 7 2 -
(A) Toren %1 fas Oa =1 (B) e =t =amft ammn
(C) Toren %t ifus wwrasdt Bt e 5 Pregies waE

76.

7. W BTG Hedi i e T & -
) el % fmm S wiwaam () faerefl w1 Fafia geies s

k (C) TorEaTqYl e HE | (D) faramefi & @wrfer & guw @ |
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8. HE- sEE uhee wee b -

(A) WEHS Jva afigm
(C)  wuEy gy

a1

\‘W yrge g
(D) w fraw wara g wm
79.  Owa vy fafy § -

(A) ma® -

_ (1)
YT mew (D) "
B0.  NTI-AT v Fhore @ el s B -

(Ay"um srmg # | (B) v sravan ¥
(C) wr va srfas sraen 2 () wrn g |

wufaa mam - faafafaa mom & wvm o gos dmn 51 2 85 9% 5 790 Afeo

mvfrfl we 3 sl #) e § vaifus g 22 2, T 3 FEvEn A2 G A
S @ yEraen faan | i e we @ wum g 2 ud, wfa, soee, ez & e @
F14 9TE Y2NTE #1 A HEEA S 9EA 4 |

A wifls saE ®1 ) faer oo 9ma 2 | @ wifads, wfafafs aure § favas g2 2 |
amaifas =g, sitfra ww %) weea 24 4 | T gaEfae e ) SeavE wEa 4 | iR &
san A s o v 3§ fadv v e e | wm, v, i, s, e a
1 grEaA & fer weh da wEA 9 | 3 o aa wendy faan @ agla soawn @ ffeem
w9 | 39 e 4 e fad oy % wyfem s s ofran, ofa, ofa, wzn o o 6
wEn S & gun @ 9w R | w w5 gu, wm fava gurm s s ah

81, “wifn amn & o famn smavew @ 3@ i b, s ol W oa AT o @ we oy

aven vz B -
(A) wwftfaa (B) v
(C) e NS g
g2. ‘wame dgadafal
(A) = afa By 7w ufl
(C) au @ wfa (D) fawd wfu
83, vl o e fem’ 4w R -
C(A)  HTES A& (B) s ada
() R e D) S e
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84. F=d @ efifematra 7

(A) wf (B) wzY
(C) D mfa
85. ‘¥ agwid-

(A) v (B) wecgra d
\_(/Ct/fw’wﬂlﬁ (D) Fguwd
wafaa wain : Prerferfin vaiv & smaw 9 wem wwn 86 # 90 7% & e A :

A wr i gin -1

o e fer § -2

A fmim e -3

# wfote s foro § -4

fresigafgsfmg -5

fmfamferag -6

9 Y9 7 3w -7

wlf yoftamfera g -8

86. FY % 2 =il § A1 Wed i gufeufa R - _
(A) # §wegi & &rm (B) ftam s wafohy srezi & s
(€L 3 yeraa s & wwo (D) o Hww &

87. wfa 3 Hreg § #4870 & v@m R
ﬁ" (B) wgd 7o
C) wreft (D) e ™

88. wHfa M wist w7

) it A i g (B) o wwen iy
(C) 4 & #q (D) $va ) wo= %t ¥y
89. wreaiy 6 wifom 2 dfarat d§ wfa 6 waT v O R -
(A) T A By wETgh A
(€) =m# (D) weA®R
90. wfa fze # fsa wen %1 @iy soam feao & 7
(A) WP A % (B)  resEmdo 3 &

(€) gWEAH (D) -firzd w1
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SECTION-IN

'6\,\%\\ 5\\/’3 LANGUAGE-11

ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.
61. Thebatteryhas

(A) came down (B) gone down
[p/ run down (D)  ran down
62. Curtal sonnet is
(A) fourteen line poenx L}B‘)/icn and a half line poem

(C) thirteen line poem (D) ecighteen and a half line poem

63. ‘A lament for the dead is a feature of

(A) Ode Elegy
(C) Sonnet (D) Drama
64. A fictional prose tale of no specified length. but too short to be published as a volume is
(A) drama (B) novel
(C) novellas (D) ort story
65. ‘Conflict’ is a feature of
(A) (B) story
) drama (D) novel
66. Identify the word in which the end sound is different from the other words.
(A) sleep (B) reap
LS teach (D) deep
67. Pick out the correct transcription of the word *garage’
(A) /guraj (B) gariz _ @6\{)}'1)
(C) giraz (D) /Gaera:z

68. Principle of Linking with Life in teaching of English involves
(A) Use of word structure .
(B) Use of semantic structures of English language in daily life
(C) Use of building structures in daily life
«_(Pr Use of graded structures of English language in daily life situation
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' 69. In Communicative teaching teacher promotes communication by
(A)Creating situation (B) Teacher’s talk
(C)  Bonding of alphabet (D) Creating nervousness

70.  Linguistic Competence refers to ;
(A)  Communication knowledge of grammar
(B)  Communication knowledge of vocabulary
(C)  Capability of knowledge
Py Tommunication knowledge of grammar and vocabulary

71. The challenge of Acquisition Poor Environment refers to
(A)  Learners learning of literature
(B)  Poor study habit o
(C)  Pollution in English language
D) Limitation of learning English language in classroom

72.  One of the main barriers to listening skill is
(A) Time & Dime (B) Barricades of class
L5‘«)/|f.eamer's prejudice (D) Unscathed Ear

73. liemedial language teaching is meant for development of
(A) Particular skills left by regular teaching
(B) Areas left by regular teaching
(C) Limitation of class size
Both (A) & (B)

74. Remedial work for spoken English involves
(A)  Drill and studying
\B7 Revision, drill, situational communicat
) (C) - Going through situational practice
(D) Revi§iop and practice

\(y/lmportance of Meaning of
(B) Importance of form and g
(C) Importance of evaluation
(D)  Importance of learner

utteran
tructure
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76. The integral approach of I.angnage testing involves testing of

(A) Primary language (B) Secondary language

(C) Third language \_(Dy~ Language in context

77.  Elective Approach to evaluation takes account of
(A) Approach to class

(B) Communicative approach 6 ,b N\)/&_

(C) Structural approach
(D) C ombination of commUnicative approach, integrative approach and structural

approach

78. Remedial teaching should be carried out on
(A) Identification of senior learners
(B) Identification of carly learners
(C) Identification of late lcarners
-\Mdentiﬁcation of malady on language test and its causes

79. During preparation of test paper teacher takes care of item development according to

(A) Nominated evaluator
(By—Thstruction objectives
(C) Number to copies to be distributed

(D) Seating arrangement

80. In Remedial teaching concentration on trouble spot is best done by
\Jﬁd/f\rranging intensive practice (B) Arranging medicine
(C) Arranging trouble (D) Arranging bubble spot

Pass: _
Patriotism or love for one's country is one of the noblest sentiments of man. It is love that comes

from one's gratefulness to the land where one is born, the country that provides everything that
makes life worth living-food, clothing and shelter, families, friends and the way of life of its
people. Or, in other words, it is our country that gives us all that we enjoy and all that makes
man’s life different from and richer than that of all other animals. ‘That is why patriotic feelings

are natural to man.

81.  Which one of the following is the most appropriate title for the passage ?

Matriotism (B) Love for country
(C) Noblest sentiment (D) Patriotic feelings

o
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v other words' indicates
B e e
(C) Sequence (D) Addition
i . L

83. The captain as well as his soldiers ready to marc

is (B) are

(D) has

(C) were

84. In the above passage the author wants to convey
(A) »Patriotism is second to any other sentiment.
(B) Patriotism is not natural.
(C) One must be patriotic to an extent.
One should be grateful to the land where on¢ is born.

85. People who buy stocks are no different from people who bet on horse racing. They both
risk their money with little chance of making a big profit.
Above lines contains
(A) the fallacy of hasty generalization.
Y(BY " the fallacy of false analogy.
(C) the fallacy of composition.
(D) the fallacy of equivocation.

86. What two words are typically used in the construction of a simile ?
(A) for, against (B) with, as

,\_}9)" like, as (D) while, during

87. Which of the following lines contains an example of assonance ?
The sleet streaked her sneakers.
(B) The angry dog barked loudly.
(C) The clown caught the kid before he fell.
(D) This is how the world goes.

88. What device is present in the line ‘The Wind whistled a high and lonesome tune’ ?
e’

(A) Irony \Mmoniﬂcation
(C) Metaphor (D) Alliteration
89. The sentence ‘The lazy lizard lounged near the lake’
S an y
(A) Metaphor A"iterﬂtion example of ?
(C) hyperbole (D) Paradox

90. He said he reconsider his decision.
(A) may (BT might
(C) can (D) could

New Section 1 Page 44



st \/ /X/’ 20 \qf @

WUE 1
ST - 11
Ry ok
33 P we: wfR |
ﬁm:m:l
61. ‘@Wﬁmt'!ﬁmmm:m
(A) 1 eI e | (B) W9 EiteTIfY O |
NSOy T e e @) weresiwad el
62. 9" TR IHARVEYTH T
(A) HS: (B) @=:
O~ (D) @
63. I WEISRITCTd . AT areAuiEdd $ed
By ety weifreer: | (B) 3reifiy: HETfETer T |
(C) =4 werfaqere™: T=om: | (D) vy gErferamem: TR |
64. *u: umvey Fyew famfer sfe v wiaea
(A) §: vy Fae fomfa | L(B)~8: umi Frapa fermfar |
(C) w: umw feew fomfar 1 (D) &: oy frea fomfy |
65. Freferfgages: wgfeauda fmeam @ -
ERi e femfire faed |
(A) @y (B) ®®
(©) (D) ETYq
66. raERERIER]” JeE U WEvi Fe s 2
(A) vrSIgEARiatya: (B) SATHIaTEfE:
(C) vramenfafta: N> D
67. 3. .. dehrer waNgd : faft: sftrrfe: 2
By Teawfafe: T (B) wETRIfaf:

(C) WW: (D) grEEfaiy:
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68, .-
T gy fad: Fafird 4

71
72.
73.
74.
75.

76.
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(B) UG \

Tl
3@

o P

(D) FATHHETHH \@UJ&/
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77. FHBBESE HEEN: F7 a7

(A) aEgFETiamE . (B) VeI

(€) Freraviiamm (D) FenediEmEm
78. ITERIH fEvi wd wea

(A) TEH 4 (B) TraugE¥

(©) TEEA (D) ¥Ry
79. aEgfEliEEr: yew: yafsy

(A) SREYTEAYEAL: (B) Traremgon
' (C) waHffy: (D) Iwfan: wE
80. BEE FATCHHET T Fd yrawm

(A) =T (B) wiigrn

(C) UTSIGETHA (D) TS

FutferRaey srafed merie smuriee frenfEar: s (81-85) T -
qrvaRYr STt egeafedy gdzedy fade gdan vy | Reneds R 9 aearster @ s
T IrEvE Ha | WA e g gy anivdifier wd 9 il ade aeeish e
fadia: ayurE): FdeEdeEfdeR w4 7 afa | RefddE seesy w Pl
Frardefves: wuAHER fada yed wifa: | afy e fersifan ety 3 wdq off
fegnfaemfy srusRET eedd | Jaud 3t “faam wduawar f |

8. ‘FA” gl ve o fawfen: 2

(A) wgeff | (B
©) fed (D) et
8. o yem % g ?
AT TR (B) fm
©) T (D) frma

B. g gom % v 70 7

(A) w1 (B) ¥q
O D) WY
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» :
84. mrrrqatrmmmmiﬂﬁ‘ Wm
(A) IFYHIG I mquﬂl
(C) IusHI F9aq @)
85. Rrda ey vew wfdfyede: WAl -
o Bercw @) fa+
Ly R + @ @ MW
Prfrfar vettes i sneferfigen: - (86-90) ;-
QA Aty gftfes
Segza arftiaeyen |
mmﬁum&g:
e v ||
86. v FREcE: yam: AfE 7
(A) FZaET=BTE: (B) FWRIWG:
(C) dTU=a=<E: Mqﬁm’
87. ‘aaif gy yerve:
(A) T \_4BT aaH
(C) aai (D) &=
88. “YEEHA:" I F: WeG: W 7
(A) wag (B) @
NS (D) wq
89.. wqrfae goua 1 fawfa: 2
) g (B) wuth
() fedfrn (D) Gemft

90. “fre s %: TER: WG wfy »

A) = @7 fr

© | (D) wg
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SECTION-1v /gvg _ 1y \/ 4/ ‘
B MATHEMATICS / nforg 9\0 \//]/

There
are 30 questions in all in this section.

All questions are compulsory /( \(\
o?,o\//l/ @ e 30y | MP(

) v srfyand 8

91.  If cost price of 12 pens is equal to selling price of 16 pens, then profit/loss in percentage is

equal to

(A)  25% profit (B) 25%]1

(C) 40% profit (D) 40% |§§§
@ﬂﬁlZﬁmﬂmloﬁ%ﬁmm%mt,?ﬁmmﬁﬂmmt

(A) 25%emy (B)~75% =ifa

(C) 40% &My (D) 40% &

92. Mr. X has a certain amount. He deposited in bank some amount at simple interest rate of
10% and rest amount at 12% rate of simple interest. One fourth of first amount is equal to
the one fifth of rest amount. If total interest is 2 2,500 after two years, then total amount

s invested is equal to
(A) T 12,000 (B) ¥ 11,000

(C) T11,250 (D) Z11,500
A X % e o fifvem of @ | 33 5w afdr 109 T s B @ @ stk S oy 12%

TS o1 1 T H o H 1 H0E | wom afdn e frem, 9w ol F oied R woe
® 1 af3 3wl & are e =4 2 2,500 F A 1 Y 78 Fo Yy www R

(A) T 12,000 (B) ¥ 11,000

O T 11,250 (D) ¥ 11,500

93. 3 litre mixture of water and sugar has 40% sugar. If | litre water is added in this mixture,
then sugar percentage in new mixture is equal to
(A) 25% (B) 30%
(D) 40%

C) 35%
ir%amm%ﬁﬂa%ﬁmﬁw%mt | afe | aﬁammmﬁmmﬁ

2, at 72 fygor & vt 1wl s 2

(A) 25% ( 0%
(C) 35% (D) 40%

‘J_ alisiis. -
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94.  In given parallelogram ABCD, values of xand y are equal

povys /ﬁ . /

(A) x=25%y=125° ®) x=125%y=25
(€ x=15%y=30° (D) x=30%y=15
e M R -Tqfr ABCD 7, 30 y 5 A R E

75°

150°
(B) x=125%y=25°
(D) x=30%y=15°

4ty

(A) x=25%y=125°
(€) x=15%y=30°

Kabir buys pencils at the rate of 11 in ¥ 10. He sells it at the rate of 10 in ¥ 11. His prc

95.
in percentage is equal to
(A) 10% (B) 11%
(C) 20% (D) 21%
mnoiniﬁmémmtlﬂ?llﬁxoﬁaﬁﬁiﬂ%mtlmm
AT T
(A) 10% (B) 11%
(©) 20% _D-2T%
S S5 4 125
96 ]fx+6+;+6=2126 then x is equal to
(A) 1 &
4) ®) T2
349
(©) 126 (D) 2
5 4 125
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g7. In given circle, valpe of @ is equal 1o

-, | -(B) 45°
3. o (D) 65°
fRRAgEH, 0% um st

(A) 35° (B) 45°
( 55° (D) 65°

98. Out of following which statement does not show nature of Mathematics ?

(A) Mathematics has its own language from which formula, concept principle are

derived.

_ (B) In Mathematics there is scope to explain the abstract concept. C{% V%/
(C) In Mathematics area of Generalization is narrow. ,a;
(D) Numbers, places, measurement are base of Mathematics. \Qj(

Prerferfia & & @ a1 e TR ) S Bz R 0

(A) vifora it 7oAt e gt & foreh Amem @ 4, weww, fegra w0 wfre R v 2 -
(B) ftrer & 3 wewd <hY SATEAT H HTE R R | 31\()7 g,(\{
(©) fore & wrrf # A EREARMR | | r«ﬁ(

(D) e, T, W S T 1 SRR | f( oz\:
A8« \

¥_} —
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99.

100.

(70) ST4

“The progress and the improvement of Mathematics are linked to the prosperity of the
State.” This statement reflects which value of Mathematics ?

(A) Social value of Mathematics
(B)  Moral value of Mathematics

(C)  Artistic value of Mathematics

(D) Disciplinary value of Mathematics

o Y 3 e g 29 A @ wwRE @ 7w FE e B A
wefifa @ 7

(A) wifor = wmfe gea
(B) mifra =1 e e

(C) nfra & wetews qou
(D) 7fora & et ey

A device for finding out what pupils understand and can do with a purpose of adapting
future teaching to the needs of the individual or the class is known as

(A) Summative Assessment

(B) Informative Assessment

(C) Diagnostic Assessment

(D) Testing )

U Tt oA S AR A A el @ el e v § stk e YR W IR T
foran s &% o6 e 6t =ufdwma v o i srawEa  IEn v 5 R 7@ 8
&, FEI R

(A) TN HTHTA
(B) HINIHS ATHeH
() T srwem
(D) wltg
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102.

(D) Toolsin Mathematics Education

discussion. & 10 other pupils as they explain the work or engage in

(C) Monitoring responses to teacher questioni
oning.

(D) Awarding marks/grades after evaluating answer book.
ﬁﬂmﬁmmmmﬁﬁmawmv
(A) Wmm-g%waﬁﬁhmmdﬁmmml

(B) foremefl s v ferelait e sverey st 3 e 1, SR N |
(C) ST 2T Y TR e e o e ol e |

(D) Ternfiiai & ser-yftemsii w1 e w0 siw /3 vem & |

All teachers are encouraged to use precise mathematical vocabulary, and to promote the

use of mathematical vocabulary among pupils this vocabulary is known as
(A) Language in Mathematics Education
(B) Values in Mathematics Education

(C) Correlation in Mathematics Education

.

mmﬁ@nﬁmmﬁ?ﬁ*m%@mﬁ?mamt v frenfifdt %
mmmnm%ﬂwmﬂmm%

(A) Tifvre fnegor & WIS
(B) iftra feveror & 46
() wifora farewr  FEEEY

(D) o farggon  TTH
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103. Out of following, which statement is not correct with rega

Mathematics ?

(A) Mathematics is called the Science of logical reasonipg.
(B) Mathematics is a way to settle in the mind a habit of reasoning.

(C) Mathematics is not a abstract science.

(D) Mathematics has béen defined as the Science of number and space.
13 ol v e 6 R o v ) P 6 el -wd A e 2
(&) W Rdwaibe et .

(B) Tfora wsd o wfGrsh # aeh 1 3H1ed ) &4 HT AV 2 |

(C) iftra avd fasma i 2 |

(D) TR Y e U e s fear 35 e 6 o Fn T R |

104. To know the nature and characteristics of error took place by students while solving the

problems of Mathematics is known as
(A) Content analysis in Mathematics
(B) Error analysis in Mathematics
(C) Content synthesis in Mathematics

(D) Error synthesis in Mathematics

Forenffai g et el 3 &t 0 % A 1 T3 el merferd] <) sy e R
H1 A 1 S B

(A) o 3 ferwarareg Farveien
(B) ifora & gfe farvereur
(C) iftra & fergaraeg wvetsw
(D) vifora  Ffe Heerw
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(05. Situation presented by teacher in
new topic is known as

(A) Previous knowledge

(B)  Introduction
(C) Statement of aim

(D) Ideal question

ﬁm%mmmmmm*mmmm-mﬁmﬁiﬁ
areft affeafer ) wea #

A) EIH . (B) semae

(C) ¥ HY (D) ed v

106. Out of following which statements does not shows best principles of curriculum
construction in Mathematics ?

(A) €urriculum of Mathematics should be child centered.
(B) Curriculum of Mathematics should be activity based.
(C) Curriculum of Mathematics should be logically & psychologically arranged.

(D) Curriculum of Mathematics need not require teacher acceptance.

Fraferfiga 3 & #t 1 %um 1for F mgaws ffo %) s 7@ 3 78 gata 2 2

(A) Tifre =1 argEmw faemedi #f3a g =ifeu |

(B) ifora w1 s fFan smarfta 2 =nfeu |

(C) T o1 UTgasRH WA U AT @n § sqafeud g 9tk |
’\;;)D) Tifore %71 argusy T saTye i wenafa B sravae FE W |

107. Out of following which is not best way of knowing the weaknesses of the students in

N OT Mathematics ?

(A) Asking questions inside or outside classroom.
‘\l , p(B) Oral work.
P\\JS\PM (C) Analysis of answer scripts of students.
\'\6\’ (D) By comparing students
Rrferfaa 3 @ 2t o fafty il 3 nftra wwaed Fwed o 6 s fifa @it o

(A) ﬁuﬁﬂﬁmﬁm‘@mmm|

(B) wftgs i

(€) el it sec-gfrsi @ e
(Qyp) et i e we

.
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108, Two whole numbers are given. If three times of larger number is divided by smaller

flumber, then 4 as quotient and 3 as remainder are obtained. If seven times of smaller
Number is divided by larger number. then § as quotient and | ‘as remainder are obtained.
Smaller number is equal to

(A) 25

\_Br 18

(C) 36

(D) 50
% ef ot 2t rf # 1 af v 5 g i ) s @ e foban e & A s

4mm3mﬁmtlv&sﬁam%m@ﬁwmﬁmﬁmm%a
WIS 5 3R St | STt g @ | W s wa

(A) 25

(B) 18

(C) 36

(D) 50

109 Sum of place values of 7; 6 and 9 in the number 17065809 is equal to
(A) 706009
(B) 7006009
(C) 7060009 -

(D) 70060009
@ W1 170658097 7, 6 31 9 % ST 7T 51 A o S

(A) 706009
(B) 7006009

(©-7060009

(D) 70060009
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L4

(75) : F

If the following fractions are : ) )
arranged
will come in the middle ged from smaller to larger fraction, then which fraction

1 3
3 31%, 1o 0-313, 0%909
A 0.909
L " (B) 0313
) 3 b
(C) 31% (D)

10
‘fﬁfﬁﬁ@aﬁwmammmﬂmt @ @ o o e

L 2. 0909
. 0.909 '
(A) 3 (B) 0.313

31% 3
er 1% o 3

1L

112,

If 9x76
-x6y9
3yy7?
then values of x and y are equal to
(A) x=9;,y=3 (B) x=3:y=9
(C) x=5,y=8 (D) x=4,y=8
ﬂ& 9x76
-x6y9
3yy7
axﬁhy%ﬂﬂiWﬂg
(A) x=9;y=3 (B) x=3;y=9
8

x=3y
MS)’ 8 (D) x=4,y=

Mr. X has T 55.600. He invested it in a scheme and got 8 times of his amount. Then he
donated T 57.986 to a trust. Again he invested rest amount and got only one third of it.
Now Mr. X has amount equal to

(A) T1,28938 (B) 129,838

(C) T1,28,948 (D) ¥1,29.848

st X % T 2 55,600 & | 39 T8 o Ao A P e 3l 3w o w8 e R |
5t 363 T 57,986 U GEIT i g o fed | H: 36 W= gan A Praw v siv swe e

- forard s AT | 7@ X 3 T U WO R

(8 T1,28,938 (B) 129838

(C) T1,28,948 : (D) ¥1,29,848
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113,

114.

(76) S'r-]
Ifa regular polygon has 9 sides, then each exterior angle is equal to
(A) 36° (B) 40°
©) 1400 (D) 160°

MR v w0 yomd &, A wedkes whvor e 2 )

A) 36° B 40° :

©€) 140° (D) 160°

Perimeter of a square is 144 cm. If area of a rectangle is equal to the area of this square
and length of rectangle is 81 cm, then difference between length and breadth of rectangle

is equal to

(A) 16cm (B) 64 cm

(C) 65cm (D) 36cm

O T 1 Gy 144 Bt R | 9 v a w1 AEe W I F AAGA & SR # aYT J™D
& orvard 81 At R, A Jvvga Y rvard ayn St § R e #

(A) 163 (B) 648t

\_/(,G)/ésﬂﬁ ' (D) 36 @t

115. If H.C.F. (408, 1032) = 1032x - 408y and x + y = 7, then (x — y) is equal to

116.

(A) 3 (B) -3

(€ 2 (D) -2

M 7.49.9. (408, 1032) = 1032x - 408y 3R v+ y = 7, A (x - y) TR
(A) 3 ( -3

(€) 2 (D) -2

An examination is being conductéd of three subjects Science, English and Mathematics
having students 60, 105 and 135 respectively. Sitting capacity of each room is same. Also
each room has students of only one subject. Then minimum number of required rooms is

equal to
(A) 15 * (B) 20
© 25 (D) 30

60, 105 3R 135 BTl aTet A7 fwal waw. fasm, aiish sk e 0 v when & s
R | v R 4 ) e e 2 | ¥ R § Haet w & fawg % om £,
@ ST F Y 2w s w R I

(A) 15 \Mo

© 2 (D) 30
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17. In given triangle ABC, AP is bisector )
ZPAQ is equal to of ZBAC and AQ is perpendicular to BC, then
A
750
B 35N, .
Q. p C
o
- ®) a0
() 15°

. (D) 25°
fea m Brgt ABC #, AP, /BAC 1w & e AQ, BC W o &, af ZPAQ W

(A) 20°
) 15°

(B) 40°
(D) 25°

118. In given triangle ABC, OB and OC are bisectors of ZB and £C respectively, then ZBOC

is equal to
&'
B C
(A) 70° L/(«m 10°
(C) 140° (D) 80°
f23 i fingw ABC #, OB 3iR OC #91: £B 3R £C % wwfpmas &, @t ZBOC wora
A
&
B C
(A) 70° (B) 110°
(C) 140° (D) 80°
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diagram, then which one
119, Sides BA and DC of quadrilateral ABCD are extended as per i "
the following is true 2

D C
v "
b X
A B

(A) x+y=a+b (B) x+y=a-b
©) x-y= a;b @ Et=a-b

=@ ABCD #1 it BA 3i DC #) 3y sigare awgrn i &, A e 4 @ S wEe

D C
v a
b "
A B

M)wa-fb (B) x+y=a-b

a+b &
3 @ SE=a-b

(€) x-y=

120. A student’s mark was wrongly entered as 108 instead of 98. Due to this mistake, average

@// marks of class got increased by 5 Total number of students in the class is equal to
(A) 10 (B) 30
(C) 50 (D) 70 :
mm%mosﬁmmgﬁﬁaﬁ:«ﬁﬁlmg&%mm%a’m 20
m
T | e ol ) o v v R

(A) 10 (B) 30

ol (D) 70
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S SECTION-vV /@vg v '
E\J ENVIRONMENTAL sTUDIES / Yataror s
/ There are 30 questions in all in this section.
All questions are compulsory.
9\O\// WEEiga 30w @r
Tt o wfar )

)121. Which is the state bird of Rajasthan

(A) Great Indian Bustard
(B) Peacock

(C) Vulture

(D) Crane

TTIHE & T uefl S H1 2 7

W’N
(B) ®m
() fig

(D) 9r#=

122. Which i< correctly matched ?

(A) Bombay Natural History Sc)cie;y - New Delhi
(B) Botanical Survey of India ‘ Kolkata
(C) Wildlife Institute of India - Coimbatore
(D) National Botanical Research Institute - Jodhpur
(@ Profafan i & i g 27
(A) and e e ded B
() ety SR HEE - wrER
(D) Ty s S HE - R
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123. Which of the following is not a source of renewable energy ?
(A) Fossil Fuel (B) Hydro Electricity
(C) Wind Energy (D) Solar Energy

@ Frafafaa § & B a sl st & @t 2

\Wﬂ*ﬂ (B) & faem

(C) . vaa Fai (D) #RFa

124. Who coined the term ‘ccosystem” ?

(A) Haeckel (B) Humboldt
(C) Tansley (D) Odum

qifta’ wree &1 73 e faean 7

(A) #we (B) wWElee

ygﬁ' (D) 3z

@ 125. Which place of India has highest rainfall ?

.

(A) Bengaluru (B) Mysore
(C) Srinagar (D) Mawsynram
WA &1 gaifie 991 aren @H FH AR 7

(A) FTEgE (B)

(C) Hm Py fem
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@' 26. Biotic component of environmeng includes

) e (B) ' Air

) Faen (D) Water

i & e wew i witifen

(A) W : (B) =l
4(C (D) v

127. Minamata disease 1s related to which of the following ?

(A) Cd pollution (B) SO, pollution

* (C) Hg pollution (D) None of these

T T %1 ey Prefafea § @ Rrad 2 7

(A) Cdyeyu (B) SO, %"

MW (D) 398 | HI$ T8

128. Which one of the following is non-projected teaching aid ?

(A) Film strip (B) Chart

(C) Epidiascope (D) Slide

freferfiaa & @ s fugo anaft S @R 7
(A) feem fm B

() o fiveeme 974 (Themameshiv) (D) TS

/
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F . © ST
129 o | vk ? '
; . . y ation ?

Which one of the following activity is not related with environment 0

(A) Deforestation

(B) Conservation of natural resources

(C) - Massive plantation

(D) Cleaning of waterbodies

{6 Preferfiam & & wt f afefs atan s & wafaa @ R ?
-

(B) Wiehfaeh HETHAI %1 ST

(C) &g e

(D) Ferrerl  JHT

[n environmental education which teaching method is related to group discussion ?

130.
(A) Role play " (B) Lecture
(C) Narration _ (D) Symposium

ertaor e & wgfess == & wafRa frew fafa S @ 2 2

(A) qﬁwﬁaiz (B) =M

‘ (C)- o N
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The ma f | >
31. The main aim o Contx C
| Nuous and Omprehensive Evaluation (CCE)is

A) to evaluat

@A) © every aspect of the child during their presence at the school
B) toeval
@) uate the interest of the child during their presence at the school.

C) to evaluat
© ¢ knowledge ang comprehension of the child during their presence at t

school.

(D) to evaluate the skills of e child during their presence at the school.
@mqﬁmlﬂiﬁ(vﬁmj.)mg@mt |
\_ (9 T 3 e 5 v e 3 sk ey o et st |

(B) ﬁmﬁm&smmtﬁsﬁmmml

(€) mﬂmﬁ%mm%m@'ﬁﬂwmml

(D) mﬁmﬁﬁ%mmiwwmﬁ’"'

132. Full form of IEEP is

(A) International Environmental Education Project

(B) International Environmental Education Programme

(C) Indian Environmental Education Project

(D) Indian Environmental Education Programme
. {3 e piwvR: |
(A) TR TAFTACE T St

\ (B e R T ST
(©) Yo e G

(D) 3o CaRITHEe A ST
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133." In order to access the students’ academic GChic;rments of teaching environmental Smdln_
which of the following evaluative indicator shouhi, notbeused ?

(A) Observation.

(B) Discussion A

(C) Experimentation | "o 3
(D) Remedial teaching r

mmm%mﬁmﬁﬁﬁmmﬁ:ﬁaﬁw*mmﬁﬁm
e gaeh %1 A T& fawan s anfae ¢

(A) FFerH HA

(B) =i &E

- (© TG AT
Uz)/awmmﬁrmm

134. Which one of the following is not a characteristic of good teaching ?
(A) Good teaching 1s based on activity, .
(B) Good teaching is democratic.
(C) Good teaching is not value based.

(D) Good teaching is planned with definite aim.

frafefaa 3 & =i |t fadhgar ar=s fgw F i 2 2

(A) m&mmmﬂmtl

(B) 3ot e S AR |
Mmﬁ'@‘iﬂmﬂaaﬁﬁmtl .
(D) a1 i et ffeem stvrge gt |
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| @) ' y

5, Which one of the follow; ;S :
&3 ollowing choice is not included in the content of environmental study ?
Sl

(A
(B)
©

(D)

Forest conservation
Political conservation
Water conservation

Soil conservation

Preaferfier & & w1 o faresew vt s ) favraeg i wfeifera 7 f o 2

(A)

o HOET

©

r

136.
(A)

(B)

ST W&

AT TrreT

Which one of the following law is not related to the trial and error theory of learning ?

Law of reinforcement
Law of readiness
Law of exercise

Law of effect
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(86) ST-1

137. To prevent child labour in India in which yearvthc Child Labour (Prohibition' and Regulation)
Act was passed ? - i i

(A)
(B)
(©)

(D)

1938
1988 "
1986

2017

@)mimmﬁmmimmm(ﬁhﬁm)mﬁHa&ﬁm
o 2

(A)

(B)

1938

1988

L/(Cﬁoss

(D) 2017

@ 138. What is the minimum legal age of marriage for girls and boys in India ?

(A)

(B)
(©)

(D)

16 years and 18 years
18 years and 21 years
18 years and 18 years

21 years and 21 'ycars

WRA # eTefhdi @ wrgwl & faare &t Eaw wpd sy Fn R 2

(A)

1699 ud 18 7§

L}Ba/lsaéqa'zlai _

(©)

(D)

18 34 wd 18 3
21 qdud 21 99
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iT-1 5
7 139. What is the name of ‘savsir . ’ \

& @ 1 of “textile city OfR,tljasthan 9

A) Udai

= o (B) Ajmer

C) Sikar .

¢ (D) Bhilwara

T H TW T 51 12y oy 2

K =% : (B) 3

a (C) Hie W“'

140. What is the name of medicine commonly used to control the addiction of narcotic drugs
(A) Folic acid ; * (B) Cocaine
(C) _ Ascorbic acid (D) Pethidine
mmﬁﬁmﬁﬁﬁﬁamﬁ@m“mﬁmm ELBETEICES & 3

(A) ifeT 31 (B) ®rH

(©) wHIRia sreet o

141. Which of the following is declared as 100% Open Defecation Free (ODF) State ?
(A) Andhra Pradesh (B) Assam

(C) Kerala (D) Tamil Nadu

frfrRas & & #1 &1 100% T # v 59 (30<us) Tsa d 7

(A) 3y wew (B) @

N o - (D) dheE
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143.

@ 144.

Y

%) 20 /
@ 142. The total number of Member of Parliament in Rajya Sabha from Rajasthan is
(A) 10 (B) 25
(C) 35 (D) 20
TS 3 T A1 Hi) e G @
M (B) 25
© 35 (D) 20
Who discovered nylon ?

(A) Melvin Calvin (B) Wallace Carothers

(C) Robin Hill (D) Peter Mitchell

Tt &1 sfassr feea fwan ?
A) Ao By e i
(C) tfem fa= (D) e fugis

Which of the following is not related to Rajasthan ?

(A) Beneshwar Fair (B) Pushkar Fair
(C) Khejarli Fair (D) Magh Fair
freferfiga § & F &1 Towa™ @ Tt T R 2

(€) SR e (CADY T e
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& (89)

did the first i
. When Irst passenger train started in India ?

1920

- (B) 1856
1853

o (D) 1959

WA # 59H A Yo S—
192

- " (B) 1856

\/(01/853 (D) 1959

@146. What is ‘Pisciculture’ ?

(A) Bee culture (B) Fish culture

(C) Poultry culture (D) None of the above
Frefrear ®n @ 2

(A) wywEE g \}Ba/‘m?ﬁ b

() ¥t arem (0) I R 3w

147. Jhamarkotra mine is famous for

(A) Copper (B) Rock phosphate

(C) Zinc (D) Uranium

SrIee weH THE
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F : pir
. - ’
i ious disease :
@ 148. Which of the following 15 @ contagious ¢l
(B) Heart attack

(A) Diabetes |
(©) Hypertensi.on (D) Diphtherd,
Prferfiaa i @ S @ O GHEE & 7

(A) wyiR (B) wGAET

(C) I=A-TEEN W

: 2
@ 149. Which of the following test is directly related with HIV *

Ji
{s{)t‘l/ (A) Widal (B) MP

(C) ESR
Prerfefige & & e e e T @ e weafa @ 7

(D) ELISA

) T~ (D) aferem

150. In which year pulse polio immunization programme was launched in India ?

(A) 1N (B) 2005

(C) 1995 (D) 1990

wra & vew diferdt e FRiww Fa s fean T

(A) 1985 (B) 2005

2995 , (D) 1990
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